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BASIC SURVEYING

Fayifa wwa . 392) (Fftrhan 37 - 60
Time allowed : 3 Hours| [Maximum Marks : 60
Az (i) YEH-mFidATIEAT AaHd
Note : There are THREE sections in the paper A, B and C.
(i) QEA-T A gvT e 1 F G 10 9T & IR AU | &% 97T T 3 H 8
ua @t 10 9777 FEGHE THR F T F 8 |

Answer all the 10 parts of the question no. | in Section-A. Each part carries
one mark and all 10 parts have objective type questions.

i) QwwA-a & 8 T 4 @ el 6 T % I AT | I T 3 3% F1 8 0
Z7H1 5 TIFT / 50 Vgl 4 I Gy |

Answer any 6 questions out of the 8 questions in Section-B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QFA-TF 6 T 7 8 b8 4 91 & I g | T4% 5 8 3F FT 8T
g7FT 15 @187 / 150 Y&gl 7 3o &g |

Answer any 4 questions oul of the 6 questions in Section-C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

) URIE QI & G 9F1 B FHER U T & AT |
Solve all the questions of a section consecutively together.
i) @ ST A i g @1 Rt 7 3 A @ A 8 |

Only English version is valid in case of difference in both the languages.

¥aH - ¢
Section — A
L () Megwfmd  wfeaiadie ?
(a) 16 (b) 33
(c) 66 (d) 100
Revenue chain consistsof __ links.
(a) 16 (by 33
ell™  (c) 66 (d) 100

(10f4) P.T.O.
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(i) @Tel Fuie 29w BT 2

(a) HATHS (b) RUTHH
(€) (a) 3 (b) T (d) 3 & I$ T
Correction for slope is always :
(a) Positive (b) Negative
(¢) Both (a)and (b) (d) None of these
(iii) Odreqor @ @ i wed & |
(a) 3R (b) FSH
(c) == (d) Iugaa adt
Check line is also called line.
(a) Base (b) Tie
(c) Proof (d) All of the above
(iv) e $rar fa fay aq @ s @ 2 2
(a) 3o 3N et (b) 3&ma 3k fom
(c) i 3 fes (d) rETee 3N 3EATE
Invar tape is made of an alloy of :
(a) Steel and Nickel (b) Steel and Tin
(¢) Copper and Zinc (d) Cobalt and Steel
(v) Tr=feafaa 4 & foa fog gae &1 3wam GHow Remm o d a2 7
(a) HI feahge (b)  foronft feebeees
(©) (a) 3 (b) G (d) 38 & Bré T
Which of the following compass is used for measuring whole circle bearing ?
(a) Surveyor’s compass (b) Prismatic compass
(c) Both (a)and (b) (d) None of these
(vi) Toreht 21 shwmma wi T % ot 6 Ie gl wewrd 2 -
(a) HHT= AT (b) &t THgex
(c) @Hr= Hl g (d) 379 | ®IE T
The vertical distance between two consecutive contours is called :
(a) Contour interval (b) Horizontal equivalent

(c¢) Gradient of Contour (d) None of these
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(vii) U @1 1 9qaie fegmm $30 °F 2 | 35eh vl g4 fgsmm &

(a) 30° (b) 150°
(c) 340° (d) 210°
The quadrantal bearing of line is S30 °E. It’s whole circle bearing is :
(a) 30° (b)y 150°
(c) 340° d 210°
(viii) & femeft T o1 uva fegpam 230° 2, @ 381 smfewa™ &m
(a) 30° (b) 40°
(c) 45° (d) 50°
If back bearing of a line is 230° its fore bearing will be :
(a) 30° (b) 40°
(c) 45° (d) 50°
(ix) 30 & a0 Fq 9 drelt gare v ey w2
(a) drTE (b) wET
(c) HHAS HAE (d) 3w i
Closed contour lines with lower value inside represent a :
(a) Pond (b) Hill
(¢) Plane Surface (d) All of above
(x) Uk BT SR i1 8 7
(a) 1100 @iz (b) 11000 FiHiex
(c) 10000 FHie (d) 12000 T
One hactare is equal to :
(a) 1100 m? (b) 11000 m?
(c) 10000 m? (d) 12000 m? (1x10)
Fau —
Section - B

2. gaww % Ievdl &l Ga i fad |

Write the objects of surveying in brief. 3)

3 ar fafis g % il & A, T adn 3 wiedl 6 sen fod |
Write name, length and number of links in four different types of chains. 3)

4. Tt feagae @1 wftae avia i |

Describe prismatic compass in brief. 3)
RT.O.
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10.

1.

acigr 9 W Hfege feogofi fafa |

Write short note on levelling staff. (3)
qui gefta fegm woref aun aquate fepam woreft  siat o Sifsw |

Differentiate between whole circle bearing and quadrantal bearing system. (3)

goft Sgel & Zeffeahiy | 718 a1 e A1 A 7

Why cross wires are fitted in the telescope of a dumpy level ? (3)

o a1 arAfaa & e | fed s ) aifta fFa ysr A S S Esdi 2 7

How capacity of reserviour is calculated with the help of a contour map. (3)
JUTATSSE g3 91 fiansed g3 § 3w vyee FHife |
Differentiate between trapezoidal formula and prismoidal formula. (3)
e — i

Section - C
Hdaqur =1 uframe fafau | gdew & fagml w @fara feogeft fafau |

Define Surveying. Write a short note on principles of surveying. (8)

frafafed fegmmi 1 vs vgfa @ gadt vgfa & wgfem -

Convert the following bearing from one system to another :

(i) 90° (i1) 130°15 (i) 320°45' (iv) 195°

(v) S45°E (vi) N45°W (vii) N10°E (viii) S30° W (1x8)

afim wa vy 78 it " 33 w s 33 e s 2

With the help of a sketch. explain how will you continue the chaining work passing
obstacle of a river. (8)

guficiaet & 4ot 34 -5 9 8 7 390 3799 § 991 9y Ba1 2 7

What are the fundamental axes of dumpy level ? What is the relation between them ? (8)

fefsreat widfifter & e va sawa faeem & fafa &1 auzme |

Explain the components and area-measurement method of digital planimeter. (8)

el =l VAT A & U FgrE-3an fafy & g &t |

Describe ~Rise and Fall method™ for computing the levels. (8)



